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ENGLISH VERSION

Instructions : (1) As per the instruction no. 1 of page no. 1.

1

(a)

(b)

(2) Figures to the right indicate marks of the

question.

(3) Necessary calculations will be treated as part of

the answer.

The cost volume-profit relationship of a 5

company 1s described by the equation
y = Rs. 2,40,000 + 0.7x in which x represents sales
revenue and y is the total cost at the sales volume

represented by x.
Find out the following
(1) P/V Ratio
(2) Increase in profit if sales increase by
Rs. 30,000 after BEP.
Parisha Ltd. purchses a new computer at 5
Rs. 4,50,000. Its estimated life is three years. Future

incomes after tax is as follows :

Year Income after tax
(Rs.)

1 1,00,000

2 1,00,000

3 1,00,000

On the basis of cash flow calculate
(1) Payback period

(2) Accounting Rate of Return.
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2 A textile company is considering two mutually exclusive 15
investment proposals. Their expected cash flow are given below.

Year Proposal-X Proposal-Y
Rs. Rs.

0 — 5,00,000 — 7,00,000
1 1,45,000 1,00,000
2 1,45,000 1,10,000
3 1,45,000 1,30,000
4 1,45,000 1,50,000
5 1,45,000 1,60,000
6 - 1,50,000
7 - 1,20,000
8 - 1,20,000
9 - 1,10,000
10 - 1,00,000

Company evaluating projects as per appropriate
required rate of returtn as follows :
Project Pay Back Required rate of return

Less than 1 year 8%
1 to 5 years 10%
5 to 10 years 12%
Over 10 years 15%

Which proposal should be acceptable to the company on
the Net Present Value method and Profitability Index Method.
Present value of Re. 1 at 8%, 10%, 12% and 15% discount

value
Year 8% 10% 12% 15%
1 0.929 0.909 0.893 0.870
2 0.857 0.827 0.797 0.756
3 0.994 0.751 0.712 0.658
4 0.735 0.683 0.636 0.572
5 0.681 0.621 0.567 0.497
6 0.630 0.565 0.507 0.432
7 0.584 0.514 0.452 0.376
8 0.540 0.467 0.404 0.327
9 0.500 0.424 0.361 0.284
10 0.463 0.386 0.322 0.247
OR
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Amish Ltd. is considering the possibility of purchasing 15
a multipurpose machine costing Rs. 10,00,000. The machine
has an expected life of 5 years. The machine will generate
Rs. 6,00,000 per year before depreciation and tax. The
management wishes to dispose of the machine at the end of
5 years for Rs. 1,00,000. The depreciation allowable for the
machine is 25% on W.D.V. and the company’s tax rate is 40%.
The company has approached first leasing company ltd.
for a five year lease for financing the machine which quoted
a rate of Rs. 30 per thousand per month. The company wants
you to evaluate the proposal. The cost of the company is 10
per cent and for lease option discount rate is 15 per cent.
The present value factors are as follows :
Year 0 1 2 3 4 )
PV @ 10% 1.00 0.9091 0.8264 0.7513 0.6830 0.6209
PV @ 15% 1.00 0.8696 | 0.7561 0.6575 0.5718 0.4972
(@) A company manufactures a product, currently 8
utilizing 80% capacity with a turnover of
Rs. 8,00,000 at Rs. 25 per unit.
Material cost (per unit)............ Rs. 7.50
Labour cost (per unit) .............. Rs. 6.25
Semi-variable cost
(Including variable cost
Rs. 3.75 per unit)............... Rs.1,80,000
Fixed cost Rs. 90,000 upto 80% level of output, beyond
this an additional Rs. 20,000 will be incurred.
Calculate :
(1) Activity level at break-even point
(2) Number of units to be sold to earn a net income
of 8% of sales
(3) Activity level needed to earn a profit of Rs. 95,000
(4) What should be the selling price per unit if
break-even point is to be brought down to 40%
activity level ?
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(b) The following data are obtained from the records of 7

Hetal Ltd.

Sales 4000 units @ 25 Rs. each ......................... Rs.1,00,000

Material consumed ..........cccooevvieiiinieninnnn... Rs.40,000

Variable overheads .........cc.coooiviiiieiinii. Rs.10,000

Labour o, Rs.20,000

Fixed overheads .......ccoovmeiimiiiiiiiiiiiiaii. Rs.18.,000 ... 88,000
Net Profit .... 12,000

Calculate :

(1) Break-even point

(2) The sales needed to earn a profit of 20% on sales.

(3) The selling price to be fixed to bring down its
BEP to 500 units under present conditions.

OR
3  The following is the standard cost data per unit of a 15

product.

Selling Price ........cccoceeeeeiiiiniiinnnnnnn. Rs. 40

Direct Material..................oouveeeee..... Rs. 8

Direct Labour ... Rs. 5

Variable Production Overheads .... Rs. 2

Fixed Production Overheads............. Rs. 5 (Bssed on a
budgeted normal
output of 36,000
units per annum)

Variable selling overheads .............. Rs. 6

Further the fixed selling

eXPenses Were .........coccceeeeunneenn. Rs. 1,20,000 per annum.

During a year the company produced 24,000 units annually
and sold 18,000 of the same. There was no opening stock.
You are required to prepare profit statements under :

(1) Marginal Costing Method

(2) Absorption Costing Method

Reconciling statement if any difference of profit between the
two methods.

4  Write short notes : (any two) 10
(1) Key factor and Break-even analysis
(2) Benefits and limitations of Pay back period method
(3) Factors affecting Productivity
(4) Sensitivity Analysis.
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